corves 1y ana 20 lead t g :
to find their re 0 cubic equations. U
al roots, - Use the methods of L
19. 32 =, 4 7 “aon 5 9, A rectangular plot of land having area _mmo m? m.m to be ozaom_om. and di-
Xy =6 20, y =2 ’ vided into two parts, as shown. Find the dimensions of the plot if the total
X+6=0 length of fencing used 1s 180 m.
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Find t
he square roots of each complex numbe
r.
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ol B 12 10. Four squares, each with sides 4 ¢m long, are cut from the corners of a rec-
This system is equivalent 2y = 16 tangular piece of cardboard having area 560 cm?. The flaps are then bent
| solution at to the one in Exa topped box having volume 960 cm?®. Find the dimen-
, S (4, 2) and (-4, —2) mple 2, page 440, and up to form an open-topped box having volume m
4+ 2 and —4 — A : - Therefore, the Square rootg om 12 +an@ fs sions of the original piece of cardboard.
C 2134 4i " 11. Two people part company and walk along perpendicular paths. One person
24 22 V= By walks 1 km/h faster than the other. They are 6 km apart after one hour.
s By — [0 " 24y ; : .
28— 0y 23. 5+ 10 Find the rate at which each person walks. Give your answers to the nearest
t 4 i tenth.
26. 12 — 16 ; e
I 12. A 20 m ladder and a 15 m ladder were leaned against a building. The bot-
‘-.A-—u- tom of the longer ladder was 7 m farther from the building than the bottom
ems of the shorter ladder, but both ladders reached the same distance up the
Solve building. Find the distance.
A 1. The sum of two numbers ; 13. Find the point on the circle with equation x* + y> =1 that is closest to the
the numbers, 1S 18 16, and the sum of their squares j 1 point (4, 3).
o .
2. The product of tWo numbers 3 46. Find 14. From the top of a vertical canyon wall T\\ 510 \|IJ.
Find the iithbers mbers is 1, and the gj fference of (e 300 m high, a person throws a rock with -
€T squares js 13 a speed of 20 m/s toward the top of the

opposite side of the canyon, which is at

the same elevation, but is 510 m away. a
According to the laws of physics, the
rock follows a path described approxi-

mately by the equation 10

of the pro i .
Bropoetyis 1o : | mw:w__mm m long. If the area
€ property.
snugly inside 2 rectang
the Tectangle is 12 Square
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5. Find the dj i .
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6. Find the |
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hypotenuse is 25 . legs of a right triangle having perimeter 56 m if
) m if the
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18 14 units. Find an

X
y = 300 — 20
above the canyon floor and x is the
e right of the vertical canyon wall.
ping and becomes level at a
hen the rock strikes the
e it was thrown? Ex-
ter. (Hint: Introduce
al wall. Write an

{ this equation

where y is the rock’s height in meters
rock’s horizontal distance in meters to th
The opposite side of the canyon is steeply slo
point 10 m from the base of the vertical wall. W
sloping side of the canyon, how far is it from wher
press your answer rounded to the nearest tenth of a me
a coordinate system whose origin is the base of the vertic
equation for the sloping side, and find a common solution ©

and the equation of the rock’s path.)
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